

حاصل عبارت ها زیر را بدست آورید.

$$\textcircled{1} (15 - ((25 - 15) \times 2 - 15)) \div (-5) =$$

$$\textcircled{2} (-7) \times (-14) + ((-14) - (-14)) \div (-1) =$$

$$\textcircled{3} (-3) \times (-9) - (v-1) =$$

$$\textcircled{4} (-10) \div (a-v) - (-12) =$$

$$\textcircled{5} a \times a + 12 - (4 \div 4 + 4) =$$

$$\textcircled{6} 1a - 3 - ((-10) - (-4)) \div (9 - 12) =$$

$$\textcircled{7} -(-2 - (-3-4) - (-9-a)) =$$

$$\textcircled{8} (12-1)(12 \div (-9) - 12) =$$

$$\textcircled{9} ((4+1) \times 2) \div (v-a) =$$

$$\textcircled{10} (-2) - (-1a) - (12-4)(11-9-3) =$$

$$\textcircled{11} \quad \frac{(-90) \times (+10) \times (-14)}{\quad} =$$

$$-100 \times (+9) \times 14$$

$$\textcircled{12} = \frac{44 \times (-14)}{-14 \times (+14)} =$$